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BERNRE SHAEE ERETEEFERBR)ERy—Y TS
4 [ IR - WAKTiE By B = B {f & % i
EHEISE 352,967, 399
=i 352,967, 399
AKAL [7—voRA] 352,967, 399
=y VBT 347,437, 655
F—y UEEREM 151, 565, 398
15—y a8EREMERS 1.00 3,010, 666 3,010, 666
&l
2 —y UEEREMES 1.00 148, 554, 732 148, 554, 732
=
E& 444,982
3 IN—T o TE% 821.00 542 444,982
m2
E&AN 8,208, 000
4 EEIREEK Ay MRSt JL%RYY b (B4%) T=30mm 2 00 4,104, 000 8, 208, 000
B
25 13, 505, 570
5 SR IHEE 2,798.00 2,283 6, 387, 834
m2
6 NEIHZEH 3,992.00 1,783 7,117,736
m2
E>3:51 53,399,616
7 SkFAMNIHESL (D13) SD345 116, 578. 00 191 22,266, 398
kg
8 Sk THHSL (D16) SD345 24, 426. 00 189 4,616,514
kg
9 $kAAINIHHSL (D19) SD345 66, 858. 00 189 12,636, 162
kg
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10 #&fAMTHAsL (D22) SD345 58, 750. 00 189 11,103, 750
kg

11 #&fAMITHALL (D25) SD345 13, 250. 00 189 2,504, 250
kg

12 RBHMHE SS400 ¢ 55mm L=2, 750mm 16. 00 13, 900 222, 400
N

13 =B AAfEIL $S400 ¢ 55mm L=2, 750mm 822 00 61 50, 142
kg

Eilp s 64,910, 790

14 SHE R HE 4R ST 12, 565. 00 5,166 64,910, 790
m2

avyy—+ 55, 403, 299

15 avy 1) —MTE 30N-12cm-20mm BB W/C=50% 2,389. 00 23,191 55, 403, 299
m3

F—Y UEKEMHT 5,529, 744

K 718,516

16 77— K 2.927t/88 1.00 718,516 778,516
&l

K& 4,751,228

17 57—v U RiE 2,927t/ GLER IR E) 2.00 2,375, 614 4,751,228
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HEREZE FEL) 24,568, 848
HE R 24,568, 848
HBEREE 24,568, 848
Bt - Z LVE 20,414, 546
Bl 20,414, 546
18 EfE (1) FD8900t & #E~E/mEE (XK 1.00 20, 414, 546 20, 414, 546

=
"’HBE 4,054, 302
"’BE 4,054, 302
19 ZvE 1.00 4,054, 302 4,054, 302
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BitEEE 100, 000
HifrgE 100, 000
20 B ERE HAREIMAE 1.00 100, 000 100, 000
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EEIEE 352, 967, 399
MEIEH 44,687,989 + 86,967, 233 131, 655, 222
HdfREE GH 24,568,848 + 18,777,865 + 1,341,276 44,687, 989
HBRBE (FEL) 24, 568, 848
HBREE (R) 352,967,399 x 5.32% (3.82% x1.00 +1.50%) 18,7717, 865
RSRERES 352,967,399 x 0.38% 1,341,276
RisEEER 397,655,388 x 21.87% (20.61% +1.26%) 86,967, 233
TR 352,967,399 + 131, 655, 222 484, 622, 621
—REEES 484,622,621 x 13.68% (13.68% x 1.00) — 2,844 66, 293, 530
LRI E 484,622,621 x 0.04% 193, 849
T*A{fis 484,622,621 + 66,293,530 + 193,849 551, 110, 000
HETR SR L 551,110,000 x 10.00% 55,111, 000
FEIZRE 551,110,000 + 55, 111,000 606, 221, 000
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% 0.50 147, 815, 654. 00 739, 078
& B 1E%HeH - 1.00K 148, 554, 732. 00 148, 554, 732
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£ b L - BIRTiE BT = B ® # " =
W=D 4 UTEER
m2 100. 00 510. 00 51,000
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m2 120. 00 27.00 3, 240
& H fEZ8EH : 100. 00m 2 54200 54, 240
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£ b L - BIRTiE BT = B ® # " =
JLRTY N (FE)RE
B 1.00 4,104, 000. 00 4,104, 000
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£ SRR ISR 100m2 %Y
2 b g - BIRTE BT o = BHO(f ® # " =
SMB L AH RIS SR (U — Y 8E) yL—rtkE
m2 100. 00 2,200.00 220, 000
STFL—29L—r A AR ER) GhE i I8 25t/
B 0.20 41, 600. 00 8,320 8H
& Hi YEZERES : 100.00m 2 2,283.00 228, 320
&S5 :6
& AEBE 100m2 %Y
2 b g - BIRTE BT H = BHO(f ® # " =
RNEHZEI (r—Y D E1E) yL—rtkE
m2 100. 00 1, 700. 00 170, 000
STFL—29L—r A AR ER) GhE i J8) 25t/
B 0.20 41, 600. 00 8,320 8H
& Hi YEZERES : 100.00m 2 1, 783. 00 178, 320
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L . $kERINIT#ESL (D13) SD345 1000k g Y
2 b g - BIRTE BT H = BHO(f ® # " =
% (2 SD345 D13
k g 1,030. 00 118.00 121, 540
SIS (r— D E1E) yL—rtkE
k g 1,000. 00 66. 00 66, 000
STFL—29L—r A AR ER) GhE i I8 25t R
B 0.10 41, 600. 00 4,160 8H
& Hi YEZHEH - 1,000.00k g 191.00 191, 700
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2 b g - BIRTE BT o = BHO(f ® # " =
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k g 1,030. 00 116. 00 119, 480
SIS (r— D E1E) yL—rtkE
k g 1,000. 00 66. 00 66, 000
STFL—29L—r A AR ER) GhE i I8 25t/
B 0.10 41, 600. 00 4,160 8H
& Hi YEZHeH : 1,000.00k g 189. 00 189, 640
&5 :9
L . $kERINT#ESL (D19) SD345 1000k g Y
2 b g - BIRTE BT H = BHO(f ® # " =
% (2 SD345 D19
k g 1,030. 00 116. 00 119, 480
SIS (r— D 81E) yL—rtkE
k g 1,000. 00 66. 00 66, 000
STFL—29L—r A AR ER) GhE i I8 25t R
B 0.10 41, 600. 00 4,160 8H
& Hi YEZHeH : 1,000.00k g 189. 00 189, 640
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2 b g - BIRTE BT H = BHO(f ® # " =
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k g 1,030. 00 116. 00 119, 480
SIS (r— D E1E) yL—rtkE
k g 1,000. 00 66. 00 66, 000
STFL—29L—r A AR ER) GhE i I8 25t/
B 0.10 41, 600. 00 4,160 8H
& Hi YEZHEH - 1,000.00k g 189. 00 189, 640
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SIS (r— D E1E) yL—rtkE
k g 1,000. 00 66. 00 66, 000
STFL—29L—r A AR ER) GhE i I8 25t/
B 0.10 41, 600. 00 4,160 8H
& Hi YEZHeH : 1,000.00k g 189. 00 189, 640
&5 :12
& REHGMHE  SS400 ¢55mm L=2, 750mm 1AL Y
2 b g - BIRTE BT H = B O ® % # " =
%REBH SS400 ¢ 55mm, L=2750mm
ZN 1.00 13, 900. 00 13, 900
& B 1E%HERN - 1. 00K 13, 900. 00 13, 900
&5 :13
ZF  ARERRHESL  SS400 ¢ 55mm L=2, 750mm 1000k g Y
2 b g - BIRTE BT H = B O ® % # " =
BEkE - m/N—#L # A5 1Z50mm~80mmk %o L— ik E
k g 1,000. 00 61.00 61,000
& Hi YEZHeH - 1,000.00k g 61.00 61,000
&5 :14
75 SRBRAAT SN 100m2 %Y
2 b g - BIRTE BT #H = B Ol ® # " =
BRI AT AR S (r— Y D BE) yL—rtkE
m2 100. 00 5,000. 00 500, 000
STFL—29L—r A AR ER) GhE i I8 25t R
B 0. 40 41, 600. 00 16, 640 8H
& Hi YEZERES : 100.00m 2 5,166. 00 516, 640
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&5 .15
&% a3y 1 )—b4TE%  30N-12cm-20mm BB W/C=50% 10m3HY
2 b g - BIRTE By = B O ® W = " =

LT4—3HRbarvy)—+F 30N—12cm—20mm BB W/C=50%

m3 10.10 19, 100. 00 192,910
a2 )— MTHR (G —Y 2 8E) Ry TE

m3 10. 00 3,900. 00 39, 000
& Hi YEZERESN - 10.00m 3 23,191.00 231,910
&S .16
B r—y oK 2.92Tt/E 1EHY

2 b g - BIRTE By = B O ® W E " =

5fin £MD 1000PSZY

B 1.00 261, 999. 00 261,999 2.00H / 8H
B $AD 10tH

B 1.00 429, 444. 00 429, 444 /8H
U

A 2.00 23, 500. 00 47,000
LEEXS

A 2.00 18, 100. 00 36, 200
MR ELNOY

% 0.50 774, 643. 00 3,873
& B 1YEZHER - 1.00[E 7178, 516. 00 778,516
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&= .17
B r—YURE 2 927t/BH GEERIRE) 1LY
2 b g - BIRTE By = B O ® W = " =
EEE M GEfEE) $AD 200t H
B 1.00 1,361, 452. 00 1,361,452 6.00H / 8H
5fin £MD 700PS#EY
B 1.00 213, 685. 00 213,685/2.00H / 8H
5fin £MD 2000PS#Y
B 1.00 438, 078. 00 438,078/2.00H / 8H
Bk D 270PSE! 3~5tH
B 1.00 174,795.00 174,795 8H
U
A 2.10 23, 500. 00 49, 350
LTEEXE
A 3.20 18, 100. 00 57,920
MR 2E0%
% 3.50 2,295, 280.00 80, 334
& B 1YEZHERN - 1.00B" 2,375,614.00 2,375,614
&= .18
2% : BEffiZE (1) FD8Y00t LM ~EMmaE (HR) HEED)
2 b g - BIRTE By = B O ® W = " =
BEE
= 1.00 3,375, 000. 00 3,375, 000
EX T
= 1.00 4,746, 495. 00 4,746, 495
B
= 1.00 11, 857, 400. 00 11, 857, 400
Elf R & F
= 1.00 398, 188. 00 398, 188
wE%E
= 1.00 37, 463. 00 37, 463
& B 1YEZHER - 1.00[E 20,414, 546. 00 20, 414, 546
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275 R 1LY
2 b g - BIRTE By = BHO(f ® # " =
RnF FD$M8, 900t 3%
= 1.00 4,054, 302. 00 4,054, 302
& B 1YE%HeRH 1,00 4,054, 302. 00 4,054, 302
E5:2
&% HiTEEE HEREDRRE 1LY
2 b g - BIRTE By = BHO(f ® # " =
HitEEE HREIMAE
I=E 1.00 100, 000. 00 100, 000
& Hi 1E%HeH - 1.00K 100, 000. 00 100, 000




